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�� 0�##%-%�%$( $� �#� $�� $1�20��$�� 0�%" 0"� �'$%�� &�" ���%��#%$( ���2
#�"����$# �$ �� "�� '���% �"# 1�# &%"#$ '��#% �"� %� 345� �$ 1�# #��1� $��$
$�� '"�## #�'$%�� �& $�� 0"�'�## pp → pp + e+e− &�" $�� &�"1�" "�6%�� '��
-� '��'���$� 1%$�%� 7�� 1%$� �� �''�"�'( �& 48 �" -�$$�" ����1%�6 &�" �
0"�'%#� ���%��#%$(  �$�"�%��$%�� �#%�6 $�� ���-�" �& ����$# �-#�"�� �� 
$�� '��'���$� '"�## #�'$%��. L = Nobs/σobs�


�� ��$�� #�66�#$� %� 345 0"��% �# &�" -�$� $�� �%6� "�$� ���%$�"%�6
�� $�� �-#���$� ���%��#%$( ���#�"����$# -�$ "�9�%"�# �  � %'�$� �00�2
"�$�# ����1%�6 &�" $�� e+e−20�%"  �$�'$%�� %� $�� 0#�� �"�0% %$( "��6� �&
|η| > : �� '�0�-�� �& $�� pT ���#�"����$# 1%$� $�� �''�"�'( �& � &�1
;��� 
�%# �00"��'� ��# ����" -��� �#� � 
�� !%����$%'  ���%� �& $�� '��2
$"�� "�0% %$( 0�%"# %# ��'� ��"� �$$"�'$%�� &"�� $�� �<0�"%���$�� 0�%�$ �&
�%�1 $���6� $�� '�""�#0�� %�6 '"�## #�'$%�� %# #�����" �� #��� �  %$%����
$���"�$%' ��'�"$�%�$%�# �00��"�


�� �00�%'�$%�� �& $�� '��$"���( 0"� �'� e+e−20�%"# 1%$�
pT = 0.4 ÷ 1 ��� &�" ���%��#%$( ���#�"����$# �$ ��
 1%$� �
��	
1�# 0"�0�#� %� 3=� *5� 
��  �$�%� #$� ( �& $�� $"%66�" %##��# �� $��
-�'!6"��� '�� %$%��# ��# #��1� $��$ �#%�6 �& pp → pp + µ+µ− 1%$�
�%6�2pT ����# ���!# &���"�-���

��� $� $�� �%6� pT $�"�#��� �& ��
 �<0�"%���$# >≥ 4 ���?� $�� '"�##
#�'$%�� �& pp → pp+µ+µ− %# #���� >1÷15 0-? $��"�&�"� $�%# 0"�'�## '�� ��$ -�
�#� &�" $�� ���%��#%$( ���%$�"%�6 -�$ 0"��% �# &�" $�� �-#���$� '��%-"�$%��
�& ��( #$�-�� �%6�2"�$� ���%$�" 1%$� $�� #$�$%#$%'�� �''�"�'( �& 4 ÷ =8 �&$�"
�& � &�1 ���$�# �0�"�$%���

����1 $�� 0"�0�#�� &�" $�� �
��	 �&&�%�� ���%��#%$(  �$�"�%��$%�� �#%�6
$�� $1�20��$�� 0"� �'$%�� �& µ+µ−20�%"# 3@� A� :5 %# "�0�"$� �� $�� 0"��%�2
%��"( #%6��� �� -�'!6"��� '"�## #�'$%�� �#$%��$�# &�" $�� ��
-  �$�'$�"
�"� 0"�#��$� �

�$ #���� -� ���$%��� $��$ $�� �00�%'�$%�� �& $�� &�"1�" e+e−20�%"# %#
�� �" #$� ( %� �
��	 3)� A� :5� 
�� 0�##%-%�%$( $� ��0��( pp → pp+µ+µ− &�"
���%��#%$( ���#�"����$# 1�# ���%&�#$� %� 3B5 1%$���$ �  �$�%� '��#% �"�$%��
�& $���"�$%'�� ��'�"$�%�$%�# ��  �$�'$�" "���$� 9��#$%��#�
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� "��%�1 �& $�� $1�20��$�� ��0$�0"� �'$%�� '�� -� &��� ��#�1��"� 3,5� ;�%�
&��$�"�# �& $�%# 0"�'�## '�� -� %���#$"�$� %� $�� �9�%�����$ ���$�� �00"�<%2
��$%�� >������? ����1%�6 ��� $� �<0"�## %$# '"�## #�'$%�� �%� $�� '"�## #�'$%��
�& $�� 0�%" 0"� �'$%�� -( �%"$��� 0��$��# 1%$� $�� �9�%�����$ 0��$�� #0�'$"�

dσ = σγ∗γ∗→LL dn1 dn2 >4?

��" '���% %�6 ��0$��# ��� ��# 3,5

dnQED =
α

π

dω

ω

dq2

q2

(
1 − q2

min

q2

)
=

α

π

dω

ω

q2
T dq2

T(
ω2/γ2 + q2

T

)2 >=?

1��"� q (ω,q) %# $�� &��"2�����$�� �& $�� �%"$��� 0��$�� �� γ = E/m %#
$�� ��"��$C &�'$�" �& $�� '���% %�6 0�"$%'�� >1� �##��� ω � E?�


�� '�$�&& �& $�� #0�'$"�� >=? �''�"# �$ |qT | ∼ W  �� $� $�� q2  �2
0�� ��'� �& σγ∗γ∗→LL >W %# $�� %���"%��$ ��## �& $�� 0�%" 0"� �'� ?� 
��
'��"�'$�"%#$%' ����� �& $�� $�� $�$�� $"��#��"#� �����$�� �& $�� 0�%" 0"�2
 �'� pT ∼ (ω1 + ω2)/γ ∼ 4+ ;�� %� $�� ���%��#%$( ���#�"����$# '��$�<$�

D��� pp '���% �� $�� 0"�$�� '��  %##�'%�$�  �"%�6 $�� 0��$�� ��%##%��
$��"�&�"� $�� ���#$%' �� $�� %����#$%' $1�20��$�� 0"�'�##�# #���� -�  %#$%�2
6�%#�� �

�� $�� ���#$%' '�#� �%6� >4��? ���( $�� #���� �� %&%'�$%�� �& $�� �9�%�����$
0��$�� #0�'$"�� %# "�9�%"� .

dnel = dnQED × G2
E − q2/4m2

p G2
M

1 − q2/4m2
p

>*?

>GE � GM �"� $�� ���'$"���6��$%' &�"� &�'$�"#?�
��" $�� %����#$%' 0"�'�##�# �%6� >4�-?� >4�'? ��� ��# &�" ��'� %����#$%'

��"$�< 3,� 45

dninel = dnQED × W2(q2, M2)
2mp

dM2 ≈ dnQED × |q2|
4π2α

σγp
T + σγp

S

M2 − m2
p

dM2 , >@?

1��"� M %# $�� %���"%��$ ��## �& $�� �� "��%' #(#$��� W2 %# $�� %����#$%'
#'�$$�"%�6 #$"�'$�"� &��'$%�� �� σγp

T � σγp
S �"� $�� γp '"�## #�'$%��# !��1�

&"�� $�� 0��$�2 �� ���'$"�20"� �'$%�� �<0�"%���$#� ���%!� >=? �� >*?� $��
�<0"�##%�� >@? %# ��$ #%�6���" &�" q2 → 0 $��# $�� '��"�'$�"%#$%' 0�%" pT &�"
$�� %����#$%' 0"� �'$%�� %# ��$ #���� >∼ =:+ ;��?�

@



(a) (b) (c)

�%6�"� 4. 
1�20��$�� 0"� �'$%�� �& ��0$�� 0�%"# %� pp '���%#%��#. >�? 2 ���#$%'�
>-�'? 2 %����#$%'

(a) (b) (c)

�%6�"� =. ;� %&%'�$%�� �& $�� ���#$%' $1�20��$�� 0"�'�## -( "�#'�$$�"%�6 >&%���
#$�$� "�#'�$$�"%�6 %# ��$ #��1�?�

�%�6"��# �& �%6� 4 "�&��'$ $�� #$"��6 %�$�"�'$%�� %�#% � $�� #%�6�� 0"�$���
-�#% �#� $�� #$"��6 %�$�"�'$%�� -�$1��� '���% %�6 0"�$��#� #� '���� ����������

�	
� #���� -� $�!�� %�$� �''���$ >�%6� =?�
�� $�� �
��	 ���%��#%$( ���#�"����$ '��$�<$� $�� "�#'�$$�"%�6 ��# -���

'��#% �"� %� 34+5� �$ 1�# #��1� $��$ $�� ���#$%' #$"��6 %�$�"�'$%�� �%6�
>=�-? E�#$ �� %&%�# $�� 0��#� �& $�� ��$"%< ������$ ��  ��# ��$ '���6� $��
'"�## #�'$%��� 
�� %����#$%' #$"��6 %�$�"�'$%�� �%6� >=�'? "� �'�# $�� (%�� �&
pp → pp + µ+µ− �� -����& �& pp → X + µ+µ−� �� $�� �<0�"%���$�� #�$�0
1��� ���( $�� ���� 0�%" %#  �$�'$� � $�� $�$��  %���� '"�## #�'$%�� "���%�#
��'���6� � 
� "� �'� $��  %���� -�'!6"��� &"�� �"���2��� 0"�'�## �� 
$�� �� "��  �'�(#� $�� �-#��'� �& �<$"� 0�"$%'��# %� $��  %���� ��"$�< %#
��'�##�"(� �� $�%# '�#�

σpp→X+µµ
γγ = σel

γγ + εinel · σinel
γγ − (1 − εrescat) · σrescat

γγ , >:?

1��"� εinel, εrescat �"� $�� 0"�-�-%�%$%�# $��$ $�� ����$ 0�##�# $�� ��"$�< '�$F
&�" ��
- �� �
��	 εinel, εrescat > 0.8�

:




�� &%"#$ $1� $�"�# '�� -� �#$%��$� �#%�6 $�� ������ &�"�����

dσel
γγ = dnel,1 dnel,2 · σγγ→µ+µ− ,

dσinel
γγ = (dnel,1 dninel,2 + dninel,1 dnel,2 + dninel,1 dninel,2) · σγγ→µ+µ− ,

σinel
γγ ∼ σel

γγ &�" $�� 0�%" ��## W > 1 ��� %� �-#��'� �& '�$# �� $�� $�$��
0�%" pT �


�� σrescat
γγ '�� ��$ -� �<0"�##� %� $�"�# �& $�� �9�%�����$ 0��$�� #0�'2

$"�� ����"%'���(� σrescat
γγ ∼ 0.1% �& σel

γγ &�" pT >0�%"? < *+ ;�� 34+5�

�� ;�
� '��'���$%��# 0�"&�"�� -( �# &�" $�� �
��	 '�� %$%��# ��#

 ����#$"�$� $��$ σrescat
γγ ∼ 0.1 σinel

γγ �� %$#  �0�� ��'� �& �� $�� 0�%"

pT %# #%�%��" $� $��$ �& σinel
γγ � 	�� %$ '��#�# �� �  %$%���� 0"�-���# &�" $��

���%��#%$( ���#�"����$#� ����1 1� %�'�� � $�� "�#'�$$�"%�6 �&&�'$ %� $��
%����#$%' '"�## #�'$%���

�$ #���� -� ��$� $��$ $�� "�#'�$$�"%�6 &�" $�� %����#$%'  %�6"��# >4�-?�
>4�'? %# ��$ '��#% �"� %� 34+5 �� %# %6��"� %� ��" '"�## #�'$%�� '��'���2
$%��#� 
�%# �� $�� -� !��1�� 6�# �& $�� #�&$ %����#$%' #'�$$�"%�6 #$"�'$�"�
&��'$%��# ��!� $�� %����#$%' '"�## #�'$%�� �#$%��$�# "�$��" ��'�"$�%��

��" $�� &�"1�" e+e−20�%" 0"� �'$%�� $�� #������## �& $�� 0�%" ��## W
��#�"�# $�� #������## �& q2 �� ��!�# $�� %����#$%' '��$"%-�$%�� ��6�%6%-��
�# 1�# #$�$� %� 345� 
�� #%$��$%�� %# ��$ #� #%�0�� '��'�"�%�6 $�� ����
0�%" 0"� �'$%�� 1%$� pT (µ) > ) ��� �� W > 4= ���� �� $�%# '�#� $��
%����#$%' -�'!6"��� %# ��$ ��6�%6%-�� ���� 1%$� #���"� �<0�"%���$�� '�$# >#��
�%6� *?� ��1���"� $��  %#$"%-�$%��# �& $�� 0�%" pT �� "���$� ��"%�-��# �"�
��"(  %&&�"��$ ����1%�6 ��� $� "� �'� $�� -�'!6"��� $� �� �''�0$�-�� �����
�� $��� #�-$"�'$ %$ �#  �#'"%-� -���1�


�� ��'�"$�%�$( %� $�� "�#% ��� %����#$%' '��$"%-�$%�� %# �-��$ *+8�
∼ *8 �& $�� �%#%-�� #%6����  ��# ��$ �&&�'$ $�� ���%��#%$( ���#�"����$  ��
$� $�� -�'!6"��� #�-$"�'$%��� 
�� �''�"�'( �& $�� ���#$%' #%6��� '��'���$%��
≤ +�:8 %# �%�%$� -( $�� �''�"�'( �& $�� 0"�$�� &�"� &�'$�"# ���(�


�� &�"����� >)?� >)? �"� 0"�#��$� �-��� E�#$ &�" $�� %���#$"�$%��� 
�� �'2
$��� '��'���$%��# 1�"� 0�"&�"�� �#%�6 $�� ����$ 6���"�$�" 3445 %�0�����$%�6
$�� �<�'$ ��1�#$ �" �" ��$"%< ������$� 
�� ���� -"��##$"�����6� �&&�'$%�6
$�� �##��$%�� 0�"���$�"  %#$"%-�$%��#� 1�# #%����$� %� $�� #�&$ 0��$�� �02
0"�<%��$%��F �$��" $(0�# �& "� %�$%�� '�""�'$%��# 1�"� ��$ �00�%� � �$ #���#
#�&&%'%��$ &�" $�� '�""��$ #$�6� �& $�� 1�"!�

)



elastic γγ
elastic γγ with
detector smearing
inelastic γγ
Drell-Yan with the
vertex multiplicity cut

µ+µ− pair pT (MeV)

dσ/dpT (pb/MeV)
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�%6�"� *. 
��  %&&�"��$%��  %���� '"�## #�'$%�� dσ/dpT &�" pp → pp + µ+µ−

�# � &��'$%�� �& $�� 0�%" $"��#��"#� �����$�� pT >�
��	� W > 4= ����
|η| < =�*?�

� ���	����� ��� �
���� �����	�
��


�� &����1%�6 '"%$�"%� �"� 0"�0�#� &�" $�� �
��	 ����$ #���'$%��.

4� 
1� ���� $"�'!# �& �00�#%$� '��"6�# >���#�"� %� -�$� $�� ����" ��2
$�'$�" �� $�� ���� #0�'$"���$�" �� $"%66�"� -( $�� ;��� #(#$��#?
1%$� pt > 6 ��� �� |η| < 2.2F

=� ;��� 0�%" %���"%��$ ��## < 60 ��� >�6�%�#$ Z0?F

*� pT �& $�� ����# �"� �9��� 1%$�%� =�:σ �& $�� ���#�"����$ ��'�"$�%�$(
>σ(pT )/pT � 4�:8 &�" pT < =+ ���?F

@� �'���%���"%$( ��6�� Θ > 1◦ #� $�� ����# �"� ��$ �<�'$�( -�'!2$�2-�'!
>�6�%�#$ $�� '�#�%' "�( -�'!6"��� ?F

:� �"�-�-%�%$( �& χ2 > 1% &�" $�� ���� ��"$�< &%$F

)� �� �$��" '��"6� $"�'!# 1%$� pt > 0.5 ���� |η| < 2.5� σ(zv) < 1 ��
�� � 6�� χ2 &"�� $�� ���� ��"$�< >σ(zv) %# $�� �#$%��$� �""�" %� z
&�" $�� ���"�#$ 0�%�$ $� $�� -���?�


�� '�� %$%�� >)? #$"��6�( "� �'�# $�� -�'!6"��� &"�� �"��� ��� 0"�'�##
�� �� "��  �'�(# -�$ ��!�# $��  �$�'$%�� �&&%'%��'(  �0�� ��$ �� $�� ����$
0%��2�0 0"�-�-%�%$(� ��" $�� ���6%$� %��� ��
 -��'� #%C� �& A�: '� �� $��
���%��#%$( L = 1033 '�−2 #−1� $�� ��## �& $1�20��$�� ����$# %# �-��$ *8�

A



elastic γγ
inelastic γγ
Drell-Yan

ATLAS:
σ(φ)=0.3-0.5 mrad

smoothed histograms
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�%6�"� @. 
�� �'�0����"%$(  %#$"%-�$%��# &�" $�� #%6��� ��  ��%���$ -�'!2
6"��� 0"�'�##�# 1%$� ��� '�$# �00�%� �


�� �<0�'$� �'�0����"%$(  %#$"%-�$%�� &�" #���'$� ����$# %� #��1� %�
�%6� @� >$�� �'�0����"%$( ��6�� φ %#  �&%�� �# $�� ��6�� -�$1��� $�� ����
0"� �'$%�� 0����#?� 
�� #%����$%�� 1�# 0�"&�"�� �#%�6 $�� 0�"$%'�� �����
;��$� 
�"�� '� � 3@5 1%$� $��  �$�'$�" 0"�0�"$%�# 0�"���$�"%C� �''�" %�6 $�
$�� �
��	 #0�'%&%'�$%��� 
�� #%6��� �� -�'!6"��� '"�## #�'$%�� �#$%��$�#
&�" $�� "�&�"��'� "�6%�� |φ| < : �"� '��$�%�%�6 �-��$ :+8 �& $�� #%6��� �"�
0"�#��$� %� 
�-�� 4�


�-�� 4. �
��	 '"�## #�'$%�� �#$%��$�# &�" $�� !%����$%' '�$# >42@? �� ���
'�$# >$�� �<0�'$�  �$�'$%�� �&&%'%��'( ≥ +�): %# ��$ $�!�� %�$� �''���$?�
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pT = 4 GeV acoplanarity ±50 mrad
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